Orebridgen
Varcupen iaf 13:1 2019-04-11

IMP over faltet, 14 bord, 28 par. Antal brickor: 12.

Plac Par Poang Namn MID
1 101 4.63 Leif Lindman - Dejana Sverker 29464 50940
2 206 2.71 Sture Johansson - Bjérn Hackberg 37148 23530
3 5 2.54 Robert Storm - Tomas Persson 92042 13449
4 1 2.40 Johan Karlsson - Magnus Hultman 32229 14044
5 303 2.12 Kenneth Wallin - Pasi Kallio 1597 4029
6 202 1.76 Bjorn Andersson - Rolf Selander 14660 7824
7 204 1.56 Bo Stanley - Anki Johansson 11020 29219
8 305 0.84 Thorbjérn Fredriksson - Karl-Gustaf Larsson 45513 12299
9 304 0.81 Lars Lilja - Nils Lund 4118 5139
10 7 0.75 Carina Larsson - Kerstin Marcusson 80635 16365
11 3 0.63 Micael Svensson - Peter Arlegard 2383 4024
12 307 0.39 Christina Oldin - Rose-Marie Crossner 25880 14138
13 302 0.36 Bjorn Forsberg - Krister Berg 8319 9747
14 306 0.24 Erik Spangberg - Claus Rohnisch 140 4081
15 106 -0.24 Goran Sandahl - Margret Lundin 33497 78235
16 102 -0.36 Adam Winberg - Linus Jorner 2950 67
17 107 -0.39 Karin Erlandsson - Asa Lindberg 45509 20366
18 203 -0.63 Kent Karlsson - Michael Runfors 4155 10344
19 207 -0.75 Irene Haberger - Berit Jonsson 55643 42639
20 104 -0.81 Goran Oldin - Bo Alsenmyr 10369 5132
21 105 -0.84 Lars Marcusson - Karl-Erik Nilsson 15446 46221
22 4 -1.56 Inger Hultstrand - Karola Hogberg 31088 17222
23 2 -1.76 Thomas Brehmer - Johan Gronkvist 4133 8342
24 103 -2.12 Lennart Johansson - Gert Bodén 20178 4113
25 201 -2.40 Bertil Blomqvist - Rolf Johansson 7823 11078
26 205 -2.54 Dan Storas - Jan Murman 64231 49030
27 6 -2.71 Gun Réhnisch - Borje Wester 10595 7827
28 301 -4.63 Tommy Jansson - Leif Ernstsson 10138 13674
1 & EKn76 Bésta kontrakt 2 4 D753 Bésta kontrakt 3 «D9 Bésta kontrakt
Nord v KKn7 34 N =140 Ost v3 64 O =-980 Syd v KKn732 3NTV =-600
Ingen *74 NS + Kn108732 ov + EKn974
#Kn543 & ¢ v & NT *42 & ¢ v & NT LX] & ¢ v & NT
4852 4D109 N7 7897 41062 « EKKn98 N34513 410 4 KKn872 N355514
v986 v1054 S77887 vKn10765 v2 S33513 v 1064 vEDS8 S 35544
+D63 ¢ EKn98 O56 445 +6 ¢+ EKD9 09 9 8 1210 +1063 ¢ KD5 097789
*K862 #ED10 V56445 &K875 #E96 vV 9 9 8 1210 #E107642 #K5 V97789
4 K43 a4 & E6543
vED32 v EKD984 v95
+ K1052 +54 +82
*97 #DKn103 #DKn98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 1v S+2 3 140 19.0 -19.0( 3 203 64 O-2 vA 100 115.0 -115.0 {101 301 3ND O -2 43 500 142.0 -142.0
3203 1v S+2 3 140 19.0 -19.0| 1201 44 0-1 vA 50 102.0 -102.0 {106 306 3NO-3 v9 300 109.0 -109.0
6 206 2v S+1 ¢3 140 19.0 -19.0| 7 207 44 O-1 vA 50 102.0 -102.0| 4 204 2v N= 48 110 67.0 -67.0
101 301 2v S+1 3 140 19.0 -19.0 (105 305 44 O-1 vK 50 102.0 -102.0| 6 206 2v N-1 ¢K -50 30.0 -30.0
102 302 14 N+2 94 140 19.0 -19.0|107 307 24 O+2 vA -170 400 -400( 2 202 3#V= v2 -110 10.0 -10.0
7 207 14 N+1 T 110 50 -5.0(103 303 3NV= ¢J -400 -26.0 26.0(105 305 3#V= 4Q -110 10.0 -10.0
103 303 1lv S+1 5 110 50 50| 5205 44 O= <vA -420 -340 34.0( 5205 14 O+2 v9 -140 20 -2.0
104 304 14 N+1 v4 110 50 -5.0(106 306 44 O= vA -420 -340 34.0(104 304 2vy N-3 ¥8 -150 20 -20
5205 1¢ O-2 &7 100 40 -40| 4204 44 O+1 vA -450 -47.0 47.0|102 302 INO+3 v9 -180 -9.0 9.0
106 306 INV-2 #3 100 40 -40| 6 206 44 O+1 vA -450 -47.0 47.0| 7 207 2NO+3 ¥9 -210 -17.0 17.0
4 204 1¢ S+1 v9 90 -6.0 6.0 (101 301 44 O+1 vA -450 -47.0 47.0(103 303 3NO= ¥9 -600 -106.0 106.0
105 305 INO-1 +5 50 -22.0 22.0(102 302 44 O+1 vA -450 -47.0 470| 1 201 3#aDV= 4Q -670 -120.0 120.0
107 307 1¢ O-1 &9 50 -22.0 22.0(104 304 44 O+1 vA -450 -47.0 470| 3 203 3#DV= 4Q -670 -120.0 120.0
2 202 INO= ¢5 90 -680 680| 2202 3vxDS-3 &7 -800 -132.0 132.0
4 & KKn9743 Bésta kontrakt 5 49 Bésta kontrakt 6 4 D753 Bésta kontrakt
Vast vE63 4¢ V =-130 Nord v EK95 34 N =140 Ost v Kn4 6y O =-1430
Alla + K3 NS + E1082 ov +D74
*76 & ¢ v & NT #E853 & ¢ v & NT #8532 & ¢ v & NT
46 4 D1082 N229 82 a74 4 E1085 N7 8897 4EK92 48 N22142
v52 vD4 S22982 vDKn872 v6 S78897 v7632 vED1098 S22142
+ DKn9 + E1086 O 10104 5 5 ¢+ K5 ¢+ D9643 055435 ¢ KKn52 ¢ E86 O 9 11129 10
#EKDKN942 #1083 V 10104 5 5 #Kn1074 #K96 V55435 10 #EDKn6 vV 9 11129 10
4 E5 4 KDKn632 4 Kn1064
v KKn10987 v 1043 vK5
¢ 7542 ¢ Kn7 + 1093
«5 «D2 *K974
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 3NO-4 T 400 129.0 -129.0 2 202 44 S= &J 620 121.0 -121.0( 5 205 6v O-1 46 100 189.0 -189.0
102 302 54DV -1 vA 200 85.0 -85.0(104 304 44 S= v6 620 121.0 -121.0| 1 201 4v O+1 4J -650 55.0 -55.0
1201 5#V-1 vA 100 61.0 -61.0(106 306 SNN= 3 600 118.0 -118.0( 3 203 4v O+1 4J -650 55.0 -55.0
105 305 14 N= #3 80 56.0 -56.0| 4 204 24 S+3 vQ 200 150 -15.0| 7 207 4v O+1 46 -650 55.0 -55.0
2 202 4v S-1 &A -100 9.0 -9.0| 5205 24 S+2 ¢8 170 3.0 -3.0[{102 302 4v O+1 4J -650 55.0 -55.0
6 206 3v S-1 &A -100 9.0 -9.0(101 301 24 S+2 vQ 170 3.0 -3.0|107 307 4v O+1 4J -650 55.0 -55.0
104 304 4v S-1 46 -100 9.0 -9.0(103 303 24 S+2 vQ 170 3.0 -3.0|101 301 5v O+1 «J -680 47.0 -47.0
4 204 44V= vA -130 0.0 00| 1201 2NN+1 3 150 -6.0 6.0 (105 305 4v O+2 #7 -680 47.0 -47.0
5205 3&#V+2 ¥3 -150 -8.0 8.0| 3203 2v N+1 ¢3 140 -6.0 6.0 106 306 4v O+2 %4 -680 470 -47.0
3 203 4vDS-1 A -200 -22.0 22.0(102 302 24 S+1 &J 140 -6.0 6.0 2202 6vV= vJ -1430 -121.0 1210
103 303 44DN-2 #3 -500 -93.0 93.0| 7 207 INN= &5 90 -240 240| 4 204 6vy O= 4J -1430 -121.0 1210
106 306 5# V= #7 -600 -115.0 115.0|105 305 3NN-2 &6 -200 -101.0 101.0| 6 206 6v O= &J -1430 -121.0 121.0

Orebridgen, Varcupen iaf 13:1 2019-04-11, sida 1 av 2




7 207 3SNO+1 8 -630 -120.0 120.0 (107 307 3NN-2 +3 -200 -101.0 101.0|103 303 6y O= ¢9 -1430 -121.0 121.0
6 206 3SNN-4 #6 -400 -140.0 140.0 (104 304 6v O= 46 -1430 -121.0 121.0
7 462 Basta kontrakt 8 4 K8 Basta kontrakt 9 43 Basta kontrakt
Syd v EKn9 4e V =-620 Vast v Kn1085 3a V =-140 Nord v D853 6NT S =990
Alla ¢ EDKn54 Ingen ¢ K1097 ov +10
£854 & ¢ v & NT #953 & ¢ v o NT #EKKn10843 & ¢ v & NT
& Knl107 « EKD853 N7 8535 4E10654 4 DKn32 N75846 «E106 & DKn52 N 126 129 10
vK107653 v4 S78535 v74 vD3 S75846 v Kn74 v 962 S 127 129 12
¢92 + 86 O 6 4 8 105 ¢ EDKNn3 ¢ 842 067 496 ¢ KD8654 ¢ 732 016041
*K2 #EKn63 vV 6 4 8 105 »82 *EK64 V6749G%6 *9 *752 V16041
494 497 4 K9874
v D82 v EK962 v EK10
¢ K1073 465 ¢ EKn9
«D1097 #DKn107 «D6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 207 4v O-2 7 200 106.0 -106.0| 2 202 44 V-2 vJ 100 20.0 -20.0| 1201 6NS= ¢K 990 110.0 -110.0
1201 44 O-1 43 100 77.0 -77.0| 3 203 44 V-2 vJ 100 20.0 -20.0| 5205 6NS= ¢K 990 110.0 -110.0
3 203 44 O-1 ¢7 100 77.0 -77.0| 5 205 44 V-2 vJ 100 20.0 -20.0(101 301 6NS=  ¢K 990 110.0 -110.0
101 301 3vy O-1 3 100 77.0 -77.0| 6 206 44 V-2 v8 100 20.0 -20.0|103 303 6+ N= v2 920 94.0 -94.0
103 303 44 O-1 3 100 77.0 -77.0| 7 207 44 V-2 vJ 100 200 -20.0( 2 202 3NS+4 ¢4 520 -26.0 26.0
105 305 44 O-1 ¢K 100 77.0 -77.0|101 301 44 V-2 vJ 100 20.0 -20.0(102 302 3NS+4 ¢5 520 -26.0 26.0
106 306 2v O= 49 -110 28.0 -28.0(102 302 4 V-2 vJ 100 20.0 -20.0| 4 204 3NS+3 ¢K 490 -40.0 40.0
5205 34 O+1 «9 -170 6.0 -6.0(103 303 4« V-2 vJ 100 20.0 -20.0| 7 207 3NS+3 +¢K 490 -40.0 40.0
4 204 34 O+3 49 -230 -10.0 10.0(104 304 44 V-2 vJ 100 20.0 -20.0(104 304 3NS+3 ¢K 490 -40.0 40.0
2 202 44 O= 7 -620 -103.0 1030| 1201 4eV-1 vJ 50 -7.0 7.0(105 305 3NS+3 ¥4 490 -40.0 40.0
6 206 44 O= #9 -620 -103.0 103.0 (105 305 44 V-1 +J 50 -7.0 7.0 107 307 3NS+3 ¢K 490 -40.0 40.0
102 302 44 O= ¢7 -620 -103.0 103.0 (106 306 4« V-1 #9 50 -7.0 70| 6206 3NS+2 #9 460 -50.0 50.0
104 304 44 O= &9 -620 -103.0 103.0 (107 307 44 V-1 v5 50 -7.0 70| 3203 5#4N+1 ¢2 420 -61.0 61.0
107 307 44 O= 49 -620 -103.0 103.0| 4 204 5vDS-3 #A -500 -152.0 152.0 (106 306 5# N+1 ¢2 420 -61.0 61.0
10 «Kn108 Basta kontrakt 11 « K532 Basta kontrakt 12 # EKKn3 Basta kontrakt
Ost v Kn53 2¢ S =90 Syd v DKn86 6v ND-2-300 |Vast v 8732 4v V =-420
Alla + ED97 Ingen +3 NS 463
#EKn10 & ¢ v & NT #DKn73 & ¢ v &4 NT #1082 & ¢ v & NT
« K4 «ED763 N7 8667 «D10974 &E86 N8 1 102 3 4965 438 N6 2385
vE62 v D874 S78667 v- vE754 $919 23 vKD9 vE10654 S6 2385
¢ KKn3 ¢ 542 054776 ¢ KD8764 ¢ Kn1052 04 123 118 ¢+ D985 ¢ EKn74 O 7 10105 8
#D9862 #5 V6577F¢6 %105 *E6 V 4 123 118 #E94  &DKn3 VvV 7 10105 8
4952 4 Kn 4 D10742
v K109 v K10932 vKn
41086 ¢+ E9 ¢ K102
#K743 #K9842 #K765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 24 O-3 43 300 56.0 -56.0(101 301 4y S= ¢K 420 149.0 -149.0| 4 204 2NV-2 «4A 100 79.0 -79.0
4 204 INV-2 ¢7 200 270 -27.0( 5205 34 S+1 «T 170 102.0 -102.0| 1 201 4v O-1 43 50 64.0 -64.0
6 206 3NV-2 3 200 27.0 -27.0({104 304 3v S+1 +K 170 102.0 -102.0| 3 203 4v O-1 42 50 64.0 -64.0
7 207 2NV - ¢7 200 27.0 -27.0|107 307 3v S= ¢K 140 95.0 -95.0| 6 206 4v O-1 42 50 64.0 -64.0
103 303 24 O-2 8 200 27.0 -27.0| 2 202 5¢vDS-1 49 -100 38.0 -38.0| 7 207 Pass 47.0 -47.0
107 307 24 O-2 +¢6 200 27.0 -27.0|102 302 5vDS-1 ¢K -100 38.0 -380| 2202 2vO+1 42 -140 6.0 -6.0
3203 24 O-1 42 100 -6.0 6.0 3203 5¢ V= vQ -400 -40.0 40.0|107 307 3vy O= 44 -140 6.0 -6.0
5205 24 O-1 &5 100 -6.0 60| 1201 44 O= 3 -420 -48.0 48.0| 5205 3vO+1 &7 -170 -5.0 5.0
101 301 2v O-1 8 100 -6.0 60| 4204 44 V= ¢3 -420 -48.0 48.0|104 304 3vO+2 ¥J -200 -11.0 11.0
102 302 24 V-1 ¥3 100 -6.0 6.0 7 207 44 V= ¢3 -420 -48.0 48.0|102 302 4y O= 42 -420 -740 740
104 304 24 O= 46 -110 -59.0 59.0|106 306 5¢ O+1 4J -420 -48.0 48.0(106 306 4v O= +2 -420 -740 740
105 305 3#S-3 4K -300 -108.0 108.0 105 305 44 O+1 A -450 -58.0 58.0(103 303 4v O+1 &4 -450 -83.0 83.0
6 206 44DO+1v2 -690 -117.0 117.0(105 305 4v O+1 &6 -450 -83.0 83.0
103 303 44DO+14J -690 -117.0 117.0
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